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RDZNBNDIEZRD K.
a) log,32 =

c) logZ% =
e) log;5 =

1
g) log; 7 =

RDIND x 2RO K.
a) log,x =3

c) log,x =2

THDEZECLD, log, M =r, log, N =s THDEEM =a’, N =a® BEOIDT &I
5730, ECT, M =d", N =o' &HET, BEEAZEFNRLT, ROBLDO[HDMEEZIRE XK.

a) log,(M x N) =log, M +log, N

c) log, M" =nlog, M

202268108

b) log,s5 =
d) log, 16 =
f) log,2 =

h) logg v2 =

1
b) log, x = —5

d) log,,x =3

b) log, (%) =log, M —log, N

ASEE B8 2 &l

iE!

F = B puUnA

K&

p=log,2, q=log,3LTBEE, RDE%Z p, q TKE.

a) log,8 =

c) log, 12 =

ROB2DINEHEE K.
3 3
a) log, i log, 5=
1 V5
b) > log, 5 —log, 5 =

c) log,(3+ V5) + log,(3 — V5) =

d) 3logs 15 —logs 135 =

(6] RDE4DNEBBICE L.

a) %log10 125 +log,, % —log,,0.3 =

A B C
b) log, - +1log, ~ +1log, — =

b) log, 18 =

d) log, 1.5 =

WHDEBEICKD, a8l = p HPROIID. COLXDTRD ¢ ZERETDUWHEIMD ZEICKD,

log, b %Z log,a &log, b TKRE. [BON-HNIZEOERATNEMINSDS. ]

log,3=m DEE, log,6. log,2%& m TKRE.

a) log, 6 =

b) log,2 =

[(RiT&<]




9] EOZ|ATNAEBVTRDINABECE L.

a) log,b-log,a =

b) log, b -log, c-log,.a =

B y = log, x [CDVWTRDRIZHTIEESD x DEENBTRE. 722U, 205 = 1414 £TB.

X
y -3 -2.5 -2 —-1.5 —1 —-0.5 0.5 1.5 2.5
RIRZFIAL T, 1BHEEE y = log, x DI S IZTTDRD TE(THIT.
y
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4DDREH y =3%, y=3"", y=logyx, y=—log,x DISI%HF.

232 (JAMTDEEN. 1=12UL, log,,2 = 0.3010 £TBD.

YeAFD, HDIBDASA%Z 1 BEBRI D EIC

, ZOMNED % EESENS. ZOHSREMHEL

EER-HDOEEBIDE, HKEHHED % BIFIC8HoMNDD. 1z71ZU log,,3 = 0.4771 £F 3.
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